BRI %80 1R 2H 3H 5H 6H =
1 KREEZR5A 100 100 100 30 330
2 EAFE 50 40 50 50 40 230
3 HIREARER 100 100 200
4 ZihEE 16 30 40 40 50 176
5 ARHERE 50 12 62
6 HEEE— 40 1 20 61
7 &z 12 20 16 3 8 59
8 EAMX 20 20 48
9 2JIMEHR 12 5 30 47
10 FTH#E 8 16 16 40
11 #hiBEZAA 30 30
11 ZRnE 30 30
13 Zig—=% 20 20
14 ENER 16 16
15 ERf 5 8 1 14
16 AiEMEA 12 1 13
17 ZF T KM 12 12
18 ZAREZ 3 5 1 9
18 KHfEKED 8 1 9
20 KEEHE 5 5
20 TTHRA 5 5
22 BV FImE 1 3 4
22 \WARFR 3 4
22 HENE— 3 1 4
25 & LRI 1 1 1 3
26 RITERE 1 1 2
26 FEEIRRKA 1 1 2
26 MREE 1 1 2



29 Btk 1
29 PIHE T 5 1
29 KINES 1
29 MRS = 1

29 BAEE 1

29 MEEF 1
29 LAENX 1

29 LIAHE— 1
29 IUARETF 1

29 LAREZ 1

29 mAHEE 1
29 HEBEZN 1

29 7K FIEKER 1

29 PISERX 1
29 RIHEX—BA 1

29 BRKHH 1

29 Hibt= 1
29 FIHRERE 1

29 BFOAK 1
29 A 1
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